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In the given article, the urgency of the problem of developing the system of financing especially guarded 

natural terrains and improving financial and economic mechanism of their functioning is emphasized on. The 

results of approbation of the basic items of technique of regularatory financing conservation of biological va-

riety of especially guarded natural terrains are given. The algorithm for calculating standards of financing con-

servation of biological variety on ecosystem and specific levels is applied, the regenerative cost for aurochs in 

Belovezhskaya Pushcha National Park is calculated and the extent of current financing reproduction of forest 

ecosystem and infrequent species (aurochs) for Belovezhskaya Pushcha is defined. Both involving and reject-

ing the coefficients of ecological and economic value (according to the higher and lower limits of reproduction 

cost) variants of calculation of extent of financing are given. The results of approbation have made it possible 

to conclude that financing reproduction of forest ecosystem has dominating role in the whole structure of ex-

tent of financing and the national park is being financed according to the lower limit of reproduction cost.
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= 1,035.
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82,815 38,519 10328,547 4803,976

82,065 38,170 10245,897 4765,534

0,750 0,349 82,650 38,442

3016 1402,791 15,080 7,014

3. - - 466,5 216,977
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